a5 LYl zralinll 2850 (po ila] faa Jrasnd

almahahj.com/ae

ailyla Bl 2811

za 55 Gl oyl i Calal)

i) il & sl & )l o) & LY zaliall & zaliall 255

) Gl oy s laiz W) Jalgil) 2850 Lol

L_LA.H J)}o ja.]‘j)

ol ) i o) dxld i 2l aall de M dw i)
&l dall]

Slgl loia¥ ali] Y 2
eamnill i alil] > 3



https://almanahj.com/ae/4math3
https://almanahj.com/ae/4math
https://almanahj.com/ae/4
https://almanahj.com/ae
https://almanahj.com
https://www.facebook.com/groups/grade4uae
https://www.facebook.com/grade4uae
http://bit.ly/2wC5tHg
https://t.me/almanahj_bot
https://bit.ly/2NTxD9O
https://bit.ly/3synIW0
https://bit.ly/3w0QBwc
https://bit.ly/2OY4dYM
https://almanahj.com/ae/id=22185
https://almanahj.com/ae/id=22147
https://almanahj.com/ae/id=22146
https://almanahj.com/ae/id=22114
https://almanahj.com/ae/id=22113
http://www.tcpdf.org

TP

S i)

paalaial) claadional) o




p T R
———— e e N
[T Maheriaie: tridge |

Question ——

3

L—

choose the number of vertices of ' \‘ L . \
"‘."1“ p A ko

the three-dimenslonal figure, el JLEN ey A \

p--"--.__ e

Mldges e [T 30m

e T TR

i
A | |6
B | |8
c | |9
]|
D 12
- —

Question 4 \ S
complete the equation. e &
5 weeks = — days W= g

A 21 i
B 28
c 35
D | |42 3
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Question
Choose the line plot for the

G4

Measurements In the table.

\\\l\\\\il\!\l.l Y
lll.l.l.\l.lllll.\"ulll F
L
_\|\\|\.\\\|\_\.|.\.\|I.\| 4 S i
— = | A-wliv
4 5 - m|e
i - l-_.._u.i_ vhx
bt - mjw —
-— =R |
e |- mie _ #_xxxxx1 i Ww._u & _
M; ¥ - .-1—.4 |
= = =
1 -
= Mxxxxx e oot4-—1 T 3 akal
XXX -
e = 1o -1-<
m “|-o - ﬁ
.0
mls '
L
& r 9
L
& =h- 4_4 1 .‘_‘ T ‘._‘_
of |
Mun _—— XXKXX-{- mlw e I gLy
— M - e m
w W . & KRKXXK - rafw .m_ X -~
_ M |- rajowr | L 3
" |E|E|E -
o = M -
E|E|E = XXX -l e XXXEXK - |
=|w|~jw[m]=
| “+-o N L=
L +-°
| L 4
k
< m
(&)
Q




' - '_E_-!:d_,__ ___l Mmlul‘l'll.llu-ﬂtl_mlun 1 ' n-'-"’ﬂi--hl..'-l..)ll- ! = ;ﬁﬂ_‘l_{'lii .

N

—

A

best estimate for the

]

005° the

wﬂgl

\

o

—
6 mm

Pt
6 cm

L
6m

e

6 km

____—__'_———-_______
SMaadd) gl Sl kil b

|

\

Quaﬁu'ﬂn

1 2

e most reasonable

cho?
stimate for the capacity.

) R S e S

e

|

.

100 L

100 mL

|

10L

= n]ﬂ!1'ﬂ'\

10 mL
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Circle Imsl dgiluia SSY) i daja

Circle the most reasonable estimate

for the mass.

A 15g
g 150¢ j
o i
c 15 kg J
D 150 kg \
Question 9 Jgud - \\
Find the unknown. Jagae and) 2oy \
5km = Em

A [ = 50

B B = 500

C B = 5,000

D [ = 50,000




P=60m

P=32m

P=22Zm

ololw|»]

P=16m
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Part 2 J/_—— 2 o :
= St
Question ( 11 -k .‘r“" LEJ.'I-"-‘“ Bl Jaghi o ps
How many lines of symmetry gt S euid Seii
does the shape below have?
A
A 0 -
B 1 LT e ot
C 2 B \
D 3 N
Sy \
Question 12 L 1|
. 5 - "LI-'F' w - .
A toy box is a three-dimensional 4l q:'i‘“ JS OF ?‘- = U"-*j'“‘\
: 2 Al 4oyl day)
figure with four faces that are Olapa Olea9 4 » .h
L LA R KT Y
rectangular and two that are Jsd e
square,
What kind of figure is It?
A ] q:j: ke
triangular prism
a)gha)
B
cylinder
B8
C
sphere
D ]-I - L 1
rectangular prism
[E13% (8]
ks
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The line graph shows the distanece !

of running over a one-hour periog AL e A, e QAN iy,
what is the size of the Interyva) .

B'-h!l-' .

.:,l...-.l-__m i_' Eu._:-.].ﬁ.n - 5

on the " i R
horizontal axis? T Sl le o paa L
e
o ——
g Running ] ——
g sl == oSN
a J210 I !
2 = %3 —_
| f——1—1 _—
a 30 20 55 1| — l
40 50 g ] R
Tierve tamia} 1® 2o =
L uu.:::,n“ ”.n
A [ 10
20 \
B 5
| D | |1 \

| Question

14 \ gt ‘\
el JAaN A Ay ad) Uty cadd
el e Adlatd (gitan

Cabals il GaliuiB dgial) Agdll W

T Bl e dall

\

Use the data displayed in the circle
graph to answer the question:
What percentage of people like
swimming over movies?

A 14% C 4% \

B 6% D 2%
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Quostion N
Nasser |5 watching a movle that lasts

B el
— 2023-2022
T

1 hour and 37 minutes. N A
He has way far. ' Ad el (A e
ched 52 minutes so galiill (4 42 e

How many minutes are left In the

_ |
— \
|
Question 16 ol Ll e Juiadll ) Y

Look at the line plot. G o A

3 . A BT ARERE
Suppose the buttons that were > cm ol \par b o .
) Jucia s (A Caul)

wide were laid In a row touching. «s

How far would that row extend?

Button Sizes (cm) (em) A5y

* X o bt

X ¥ ¥ x X T Rl
NE TR 7 e o e e T S TR T W

© 3+ 2 2 L5 O T 3 7T 7

[ 3
A o
I 7 cm

6
B ' = cm
e

8
e - CIm

4

9
D - cm

4

EY=E
E‘
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17

e l

mus to run.
1
ghe runs an additional " Kkm each
day-
on the last day, she ran 1% km.
if she ran % km her first day, for how

many days has she been running?

(gAY A

p32 US Gilia) & km (g

15 km i at el B

ac psh (g1 \gam A -'5 km < V3
gl o A P

The masses of the pleces are
10 g, 14 g, 15 g and 20 g.
if he uses three of the pleces, what

are the possible total masses of the

A
A 4
| e
Bl |5 \
| 1
c |6 J
=
p | |7 \
Question 18 Sl J
Khalaf has four pleces of clay to piidesal) pabll (e plad o ild (oo
make a clay pot. (SAad Ul adual
adadl) RS 313

Adlaay) s Lad (adal S paadud 13)
TGMAA] ¢l Aladadl)

clay pot?

—A 359,369,419,4649
B 379,429,459,47 9
c 389,439,459,484
D 399,449,459,499
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Question
Noura packed 15 glass

Omaments into each box.
She filled 5 boxes.

Jv;:.,u,m“:

7 Bl

«Aakd 15 Ly cad,
dstig

.&JLL.:E l:b-‘ij
v‘iaﬁﬂ@wﬁﬂm"’h]h

What is the total number of
Ornaments in the boxes?
A 65 i S S
B 75 L e
Cc 85 —
D 95 e
By |
7% Question 20 L U 4:,;\\
Find the area of the figure.
3m
3m
A A =15m?
B A=12m?
C | |A=9m?
D | |A=6m?
56
EG

13
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Question \

fFind the volume of the prism,

gt |

e apiiall pan sa)

6 cm

3cm

3' cm
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Question l 22 ereren
There are three books, ‘i B
Each has 3 mass of 0.3 kg. ._I].3 E—:ﬂisﬁﬂﬁ
What is the total mass of the three il L
books? el i g
Use the number line.

¢ Lo i

| | | |
0 0l 020304 050607080910

T
he total mass of the three books A AU sl ALS | S

is

A
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=
A rectangle has an area of 22 m?
a) List all of the possible

dimensions of rectangles with
an area of 22 m?2,

b) What Is the greatest possible

perimeter for this rectangle?

=)

.22 m? dGalea Mk

cubiaeal] Aludaddl dafi) e S (2
.22 m® WEalaa AN

rJikiieal) 13g) Jaina Jaias 581 e (b

|
................ |-....|a||-.-n----..“-.q-...u.u.u------------rrr--|--“..,-a.---.-u.-..1-;..--n.-.--.-.--rﬂ---.-..---.-n---n-u--.-u--n--n“-.-..“..
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C
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Question

24

I

Farig
Pourgd 500 mL of lemon juilce

ind 2
L of water in, 5 pitcher to make
*Monade,

low
i Many milliliters of temon juice and
F did
he pour into the pltcher in all?

e ey [T 3
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Question

|l
Each child in mys, Nabila's clags | Dy A 5l i d%:lh JS sl
T ' - M *
has a retlanglﬂar I'I'Oleh-gnk that _ 600 z v Lois ﬂahf“
.600 cm?® Galuw ks
has an area of 600 cm?2. ? il gk L (20 Lag €1
If the notebook jg 20 cm wide e

what Is the length of the notebook?

----------------------------------
............
-------------------
.............................................................................

..........................
------------------
..................
i 4 i A 0 A B BN
...............................................
.................................................................................................

...........................................................
.....................................................................

..........................
.................................................................................................................

................................................................................................................................................

................................................................................................................................................

End of Questions by el



